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Chapter 11, 12 and 9 Review

1.  Asquare has an area of 9 ft>. What is its perimeter?
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2. Anequilateral triangle has a perimeter of 18 cm. What is its area?
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3.  Find the perimeter and area of the shaded region.
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4.  Find the perimeter and area of the parallelogram.
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5.  Find the perimeter and area of the polygon with the vertices of (-2, 3), (1, 3), (5, -3) and (-2, -3).
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6. Find the perimeter and area of the rhombus.
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7.  Given the regular polygon, find the measures of <1 and %2.
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8.  Aregular decagon has an apothem of 8. Find the perimeter and area of the decagon. Round your answer to the

nearest tenth.
() - b/ ( .9 % Ln ;\’3\

- 2
A= 2077 0o |
9.  Find the length of arc PQ. Find the area of sector PQ.
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10. Find the perimeter and area of the shaded region.
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11. The figures are similar. Give the ratios of perimeters and the ratio of areas from the first figure to the second.
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12. Arectangular table cloth costs $3.25. A similar tablecloth is five times longer and five times wider. How much
would you expect to pay for the larger tablecloth?
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13. There are 11 different nets of a cube. 4 are shown. Draw 4 of the remaining 7 nets.




13. Find the lateral area, surface area and volume.
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14. The following prism was created using regular triangles and a regular hexagon. Find the lateral area, surface
area and volume of the prism.
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15. A square pyramid has base edge length of 12 and slant height of 10. Find the lateral area, surface area and
volume.
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16. Find the surface area and volume of the compound soli"d.
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17. The surface areas of two similar solids are 72 ft2 and 392 ft>. The volume of the larger solid is 1372 ft3. What is
the volume of the smaller solid?
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18. Name the tessellation using its vertices. Then verify that the tessellation covers the plane by adding the degrees
around each vertex.
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Choose the correct name of the tessellation using its vertices.
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A) 3,366 3535 A) 3,3,4,4,3 B.) 3,4,43,3

C) 6633 D.) 3,663 C.) 4,4,33,3 D.) 3,4,3,4,3



Name the transformation that will map triangle A onto the indicated triangle. There are two answers for each

transformation.
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21. Triangle B 22. Triangle C
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Glike ReSlection

Rotate AABC 90° counterclockwise centered at the

24. Translate AABC down 3 units and to the left 5 25.
units. origin.
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How have the coordinates changed from A ABC to How have the coordinates changed from A ABC to
AA'BC? ANBC?
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26. Reflect AABCin the line y=x. 27. Reflect AABC in the line x=-1.
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How have the coordinates changed from A ABC to
AANBC?
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Identify any symmetry.
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30. The letters have been sorted into five groups. What attributes were used to sort the groups. Be as specific as
possible using math vocabulary.
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The letters below have not been placed in a group. Which group does each belong?
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